2,

The Tiger Reserve in West Bengal which is
seriously threatened by ongoing dolomite
mining

(A) Jaldapara
(C) Sunderban

(B) Buxa
(D) Gorumara

Among Anil, Bibek, Charu, Debu and Eswar,
Eswar is taller than Debu but not as fat as
Debu. Charu is taller than Anil but shorter
than Bibek. Anil is fatter than Debu but not
as fat as Bibek. Eswar is thinner than Charu,
who is thinner than Debu. Eswar is shorter
than Anil. Who is the thinnest person ?

(A) Debu (B) Bibek

(C) Charu (D) Eswar

Automotive Research Association

~ of India has developed a technology

 X10

innovation platform for sustainable
mobility called

(A) Sparrow
(C) Sponge

(B) SanRachna
(D) TechNovuus

Insert the missing character.

E|(M]|H
NJ]O|A
I ? D
(GVRY B) M
© J D) W
The average of the first 100 positive integers is
(A) 50.5 (B) 100
(C) 51 (D) 49.50
Polyadelphous form of Androecium seen in
which plant ?
(A) Malvaceae (B) Lemon
(C) Compositae (D) Colocasia
The area of a square is —
(49x" + 28x + 4). Its side is g
(&) (7x+2) ®) (7x + 3) WRE
fr)mﬁx e D) (5x + 7)
y-to-army

India and UK j biennial exercise between

8
(A) Akash d
(C) Anant Warrior (([B); A]Bya Warrior

Akshaya

i R

t\/ '
L

L ofem WTe # 99 R SEE @ A BE-a

CMMS - S3

e fed i sr A @At AR ?
(A) SRR (B) =
(C) §awH . (D) TiEHTa

2. afra, faraw, =T, 2 i fvat H R 29 & o
2 At 3 Roreen siver 7T &1 W s @ ot R
A R @ O1A 2 sife 293 A @ A
foraen Forae e 1 81 e 916 @ e @, 3
A vaen 21 $ea e @ 9 B TR vaen SR
IAR?

@A) 3| ®) foem
(C) 9% (D) ¥R

3. W HITEE FFEYH THIEE 3 guri
TTfersfieraT Bg U qeheiieh AaI-1501 RIHH faentied

g, s HeaTal gl
A) 9 By GG
(C) Wi (D) FAEE
4. ga@wRH gAY
E[(M|H
N|o] A
WERE
@A) C B) M
© J D) W
5 TEat 100 87 quifen! = itea R
(A) 50.5 (B) 100
(C) 51 (D)+49.50
6, TR = GiRTewa & e Y F a
ST g ?
(A) Wrerdt ® g
(C) wwiifsre @) FNHEA
\7-/ o o et (403 + 28x + ), AFEATT
&) (Tx+2) ®) m::;.
©) (7x-2) D) Gx*
8, T 3t g 3 i vy B A R q:““
(A) STTRTT @®) ¥
(C) 3Fa A& @ ¥
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Q R 0“'

pirection -9 and 10 : On the basis of the information

given b
L.

IL
118

IV.

=

VIL
VIIL.

10.

1L

12.

13.

elow, answer the following questions :

P,Q R, S, T and U are six members of a group
of which three are males and three are females.
There are two engineers, two lawyers, one
teacher and one doctor in the group.

Q T, P and R are two married

couples and no person in this group

has the same profession.

T, a teacher with blue dress,

married a male lawyer with brown

dress.

Colour of the dresses of both the husbands
and that of both the wives is the same.

Two persons have blue dress, two have
brown and the remaining one each has black
and green.

P is a male engineer whose sister S is also an
engineer.

Q is a doctor.

Which of the following is a group of female
members ?

(A) QSU (B) QSR
(C) QST D) QTU
Who is the wife of P ?

(A) S B) Q
© R M) T

If + means X, X means + + means
— means X, then what will be the -
of 50-10%x20+5+27

(A) 490 (B) 500

(C) 520 (D) None

Who were the pioneers of Mesopotamian
civilization ?

(A) Assyrians (B) Akkadians

(C) Amorites (D) Sumerians

L, M, N, O, P, Q and R are seven points
on a field. O is 220m to the north of P,
L is 180m to the north of M, which is 19m
to the west of N. P is 40m to the north of R
and 30m to the east of M. Q is 220m to the

south of L. How far and in which direction is
L from N ?

(A) 181m, South East
(B) 180m, North East
(C) 181m, North West
(D) 180m, South West,

220 ~ P
A e i
P (3—WV ;
Yo
h- g

mﬁf

L.
II.
I11.

IV.

<

VIL
VIIL

10,

11.

18.

o
o]

o

% (A) 490

" CMMS - S8
| 8

0 : g 3 anr @ P s &

£ !

P, Q, R, S, T 3 U v wyg & 6 aee & e i
qeq 3f i Afend &) '

o 3 o, 3 T, T SreE AR O
Blaet B '

Q, T, P 3l R ) Frarfea gt § ok wog # et
vt =ff 1 sqeaTd GHH A8 2|

T, e 1eangs & ) A forema 3 81 s o 3 feramd
T T @ faare R )

3 ot afv AT afer % e @ @ W B
2 safdl % forara &1 o1 Hren 8, 2 F 9 8 3N

72 gu i & v &1 e AR

P g seifien & Rt 7 S off @ A )

Q & fafreas B1 '

frfifaq o @ #m-w Afken @Il B T
oER 7

(A) QSU (B) QSR

(c)'_.Q_s-r (D) QTU

PHITE #A R ? B35
A) S ®) Q X
(© R @y T

R o+ F o3d x, x W I3 + + ;oI
— 1 39 X, 61 50 — 10 X 20 + 5+ 2 6 W <41 8F1 7

(B) 500
(C) 520 (D) =1§ &
AT ) @ % 9o wewis e 9 ?
(A) TEETETH (B): SFhITea
(C) wHIEeH (D) ghfa=

L, M, N, O, P, Qaﬁtnw»ﬂammﬁg%l
O, P & 39 # 220m R L, M ¥ I 180m 2,
S NHUEH 19m B1 P,R F390H 40m sk M F
& H 30m R Q, L & féror 3 220m R)

L, N & fieft gt ol R R 3 8 ¢

(A) 18170, afior

B) 180+, IR

(C) 181+, It uféy

(D) 180, zféror afém

uay, |

e

pos”
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4. Indian agricultural economy is shifting from 14. “fﬂqq'ﬁ am—a—ﬁ-—
14. (A) Primary to agriculture (A) yrufie 3 ﬂiﬁ £ 30
(B) Secondary to primary agriculture (B) d%diumﬂ srafiE b
(C) Primary to secondary agriculture (9] SIIEIIEIEF@ m B 2
(D) Tertiary to secondary agriculture (D) qEH - ;
165. The following question is based on the series | 15 Arffaa v 39 @ T A
ABCDEFGHI- KLY ABCDEFGHIJKLM
NOPQRSTUVWXYZ NOPQRSTU\;”WE{}"Z

’%ﬂéa’ﬁr’l&%ﬁ”ﬁémmm‘lmﬁmmaﬁ,
21t & 73 7 AT AT AR FH-F1 B <Y ?

Which letter should be ninth letter to the
left of the ninth letter from the right, if the

first half of the given alphabet is reversed ?
A F (B) D A F B) D
©) E M) 1 ©) E- M) I
16. Abraham Accord was signed between 16. 3THTEH HEA W _ sdewEmERgul
(A) UAE and Israel (AT SR TS 3
(B) UAE and Pakistan (B) qg{ 3 e
(C) Pakistan and Israel (C) uTferea S FerTEet
(D) Egypt and Israel (D) fora i Fsaaa
17. Select the correct mirror image of the given IV\a“g Gﬂ?f?l 1 gl o e gﬁq e g1
figure when the mirror is placed at line AB. @1 AB W;IETAGITHT 2
A
‘B % B
A (B) (A) B)
© D) © )

18. A house was sold for Rs. y by giving a 18, UH T H x% i G I y ¥ # S 91, A

19.

X10

discount of x%, then the list price was

100y 100y
100x 100y
100

The blood vascular system in cockroach is of
(A) both (B) and (C) (B) closed type

(C) open type (D) none

T e w1 ?

100y 100y .
@ 1-x ® Too-x
100x 100y
© foo-y T T
X ] 100
19. Hield d G aifes1 93 g1 e
A) B) ()3 (B) 9 IR E
(C) YR <l

D) FETE
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20. The conference which established
International Monetary Fund

(A) Paris (B) Sanfrancisco
(C) Philadelphia (D) Bretton Woods
. [

91. Testosterone is secreted by
(A) Ovary (B) Pituitary gland
(C) Testes (D) Adrenal gland

92. Satish remembers that his brother's birthday
is after fifteenth but before ecighteenth of
February whereas his sister Kajal remembers
that her brother’s birthday is after sixteenth
but below nineteenth of February. On which
day in February is Satish's brother’s birthday ?
(A) 18*® (B) 16*
©) 17* (D) 19*

23. Following are the types of modem :
1. Internal modem
2. External modem
(A) Both 1 and 2 (B) Only 1
(C) Only 2 (D) Neither 1 nor 2

24. The Architect of Indian Planning
(A) Jawaharlal Nehru
(B) Dr. Manmohan Singh

E%s: (C) P.C. Mahalanobis

v 4e (D) Dr. Ambedkar

25. Which of the following is/are the T”
world heritage sites in India ?

(A) Agra Fort

(B) Buddhist Monuments at Sanchi
(C) Ajanta Caves

(D) All the above

26. 18 a program that adds functions
to the webbrowser such as an audio player
or a compression utility.

(A) Helper Programs
(B) Plug-ins

(C) Native Support
(D) None of the above

27. The largest phylum of Animalia is
(A) Anthronda (B) Arthropoda
(C) Chordata (D) Pisces
28. The asthenosphere is
(A) The lower portion of the mantle
(B) The portion of earth beyond the crust
(C) The upper portion of the mantle
(D) The inner portion of the earth core

.=CO

-b5-

20,

21.

22,

23.

25b.

26.

27.

28,

V3 AN
o {/ MM - S3

% weiver il siadefya gz i oA e g
(A) A ~ ®) BAF AT

(C) Rranfetsu Wed g
et g i A B

(A) 3fETITA (B) iy fa

(©) g (D) ofge wifa

et ) 7 B fF 3wk Wi @ e 15 e
¥ e AfF 18 Tl A g & FafE sah a6
FTE F A4TE 2 o 3a% Wi & T 16 FEt &
e AR 19 ) A w0 31 wad | fea fEa adia
FuadF a8 ?

(A) 18 (B) 16
(©) 17° (D) 19
ﬁqﬁ_*rrﬁaaﬁaﬁ%wasm%
1. a7afi Aren
2. W HieH
(A) 1 3 2 3 * (B) e 1
(€) ¥ 2 ®) A@1ad2 -
Tl AYer o SR R
(A) SETEEr
(B) 1. wmire &g

o4, werEEeE

) 2. 3eTH

frfifaa § @ FF-a1 vra 3 g & faa |
WA /87

(A) 3T = feren

(B)Hiiﬁffg%m

(C) 3f=Iat

@)mmﬂm
U@ W R S YawEe H B e
2, 3w A @A @ v wire warn)

(A) HEHE ST

(B) <m-54

(C) W& wErE!

(D) 3% # A #rf Tl
frtmm——
(C) wiEan D) e
e R

A) e w1 ey v

(B) W &t yuat &

i (C) et &1l ym

(D) ge=ht R &1 yraftEn W
X10
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20,

30,

81.

32.

88.

34.

35.

X10

Thoeso are tho oxamples of email-client
(A) Pegnaus Mail

(B) Budora :

(G) Microsoft outlook oxpress

(D) All tho nbove

From the givon answer figures, select the
one in which the question figure is hidden/
embedded.

Problem PFigure

?
Answer Figures "
NWVA
2 3 4
A1 (B) 38
(C) 4 D) 2
37% of 150 — 0.05% of 1000 = ?
(A) 656.6 (B) 650
(C) 66 (D) 55.55
For short day plants which period is ¢  .al

and must be continuous ? '
(A) Semi dark period

(B) Light period

(C) Full light period

(D) Dark period

The change in total utility due to consumption
of one additional unit of a commodity is
known as '
(A) Average utility
(C) Initial utility

(B) Total utility .
(D) Marginal utility

Which of the following cities has been
declared as India’s first water plus city
under the Swachh Survekshan 2021 ?

(A) Chandigarh (B) Indore
(C) Gurugram (D) None of the above

Which one of the following is not present in
the compose mail page of Yahoo ?

(A) Content (B) To
(C) Ce (D) Subject

e

2 §-irel ITE % IATEW 8

(A) Ymrad A
(B)

L

A7 I angfedl 3 A, a8 Il i fred w
s gt & /wea 21 '

T S

75

8 B R

29.

30.

1
A1 (B) 38
(C) 47 D) 2
81. 150%137% — 1000 T 0.05% = ?
(A) 55.5 (B) 50
(C) 55 (D) 55.55 *

82. Wi 2 Wi & g H-#t srafhy weagi R ik
a8 e et =nfeg ?

(A)-31 37 37afy

(B) wehTe1 Sqafy

(C) qof werrer arafy

(D) 0 srafy

T g H 0 fafia g ) @y &

(A) 3itaa yaran. (B) Tt e
© P wi=m (D) mifre vt

frfofaa § Q :
s 2031 & sl SR W T

34.

T™R?
Sy - ® W
%I{Wﬁ (D) Ia H A eI

86, fr=fefm # @ ¥ w1 9 & w9 A9 U9 i
Iufera i grar ? =
(B) % (To)

(A) %= (Content)
(C) Hielt (Co) (D) ST (Subject) «
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36. The decomposition of vegetable matter into
compost is an example for

(A) reduction reaction

(B) endothermic reaction
(C) exothermic reaction
(D) decomposition reaction

87. What is the minimum number of cuts
required to cut a cube into 210 pieces ?

(A) 15 (B) 17
(C) 16 (D) 13

38. World Health Organisation (WHO)
head-quartered at

(A) Delhi, India

(B) Geneva, Switzerland
(C) Rome, Italy

(D) None of the above

89. _________is a machine readable code in
the form of a pattern of parallel vertical lines
of varying widths.

(A) Optical Mark Reader (OMR)
(B) Optical Character Reader (OCR)

(C) Magnetic Ink Character Recognition
; (MICR)
(D) Bar code

40, Which farming is free from chemic..s ?
(A) Terrace farming (B) Modern farming
(C) Inorganic farming (D) Organic farming

41. A grocer buys two kind of rice at
Rs. 1.80 and Rs. 1.20 per kg respectively. In
what proportion should these be mixed, so
t-h&t by selling the mixture at Rs. 1.75 per
® ke., 25% may be gained ?

(A) 3:4 ®) 2:1
C) 3:2 D) 1:2

42. NBAGR stands for

(A) National Bureay of Animal Garland
Resource

(B) National Bureay of Animal Genetic
Resource

(C) National Bureau of Animal Gland
Resource

(D) National Bureau of Animal Glue

 Resource
(g

/ 2 4 -
m www.cclchapter.com

CMMS - S3
86, TR EEdFmEAR A AwEA
45! T IETE R
| (A) T
(B) Fwrawidt arfwfsan
(C) Freasit arfifsman
(D) ¥rqerea afvfsear -
87. ©H A H 210 gwel § @wred & for aifea =
FE &) G&TT 8
A 15 Y|4 B) 17
(C) 16 * (D) 13
88, e wwen T (WHO)ang@mﬂ___ﬁl
(&) Teeefl, @
W et
(C) Tm, geeit
(D) I7iaa # A g el
39, . qiEedH <rer & gaiat Statat warsi
¥ et 3 w7 3 v it g0 vE e R

(A) ifRwa ueh gt (OMR)
(B) ifewar FF =t (OCR)
(C) Mt 3% A fawfE (MICR)
(D) TMFHE
40. aﬁq-@ﬂﬁmmaaa‘a?ﬁ%?

(&) s THR "(B) M F
(©) s Fy D) 3 Fh

41. & fR gEEER . 1.80 3R 5. 1.20 WY formm.
I A Ay & 1w Giear ¥ @ e sEua
# forerman st =nfee, wfes fsmr s, 1,75 wf R,
T SEA W 25% AN WG & 7

(A) 3:4 B) 2:1
(C) 3:2™ D) 1:2

42. UTEICHIAT (NBAGR) 1 forega w9 8
(A) 3R = s Wfer e e
(B) 3= i e She e
(C) et =R 311 Wt e e
(D) e = A Yfirer ey el

X10



CMMS -g3

il

few e 8, e o 2
o 'm . @ ﬁr CELE)
49, In thin quoation, two .atutmnnntr: are given 43 & 3 frerd gﬁqsﬁ aifes =g Eﬁﬂﬂq&
followed by two conclusions, Choose the Aza 81
conclusion(s) which best fit(s) logically. (e
Statomonts : ] @aw Tl 81 @
1) Somo awiteh ia not koye, 1) 39 ‘! T =ik
2) Some key are not light. 2) g9
sonolusions ‘ :
1. Some light are not key. I. O TR g;ﬁrq;wﬁfgl
11. Some switeh is light. IL.§9 fer= g Bl 3
(A) Both conclusions I and 11 follows (A) I fred 19 11 78 ﬁlgl
(13) Only conclusion 11 follows (B)-WM I1 37ga T %l
(C) Only conclusion I follows (C) Fae faswd 1 178 :ﬁ.‘fﬂiml A
(D) None of the conclusion follows (D) &% of} fepd 7T 81 HTGl e
44, The organisms which can tolerate and thrive | 44, <l R a5 8 #ﬁ-ﬁ -
; /:;\ 1[1‘\v3de m‘ngu of temperature .ure called as (A) geeardt (B) gehrofardt
Surythermal (B) Stenothermal 5
(C) Euryhaline (D) Stenohaline (C) gegwravit (D) @ehroferaft
46. A}cubo ialcut into '{.]wlo equal p?rta 46. CF 9 ! & GHH WP A Gﬂaiaqf:ﬂ%g
along a plane parallel to one of its _ mﬂmm%wﬁmmm | G
fnces, One picce is then coloured . .
red on thoptwo larger faces and aﬁai@‘l‘@f‘ﬁﬁm iRt 9 9 &t w1 |/ 0 S
o s S RSN VEe R Taifeh g & 9 B avre= el qr e S W
other is coloured green on two 3
smaller adjacent faces and red on AT 1R 0 S @1 W W IR F
gée mrggimr;‘g.t{ﬂnch is then cut '111"11:0 32 51 § 1T STTAT 8 | 36 |18 Mt 64 w1 &1 e
cubes of the same size. The .
64 cubes are then mixed up, How many ﬁmm%'%ﬁ%ﬁngﬁqm%?
cubes have no coloured face at all ? @A) 8
(A) 8 (B) 0 (B) 0
©€) 4 (D) 16 (©) 4 ®) 16
46, The smallest living cells known are 46. TR B T iR 2
(A) Mycoplasma (B) Nostoc W A
47- '(Pf;‘;) I:Ju\'mf:teriu ’ “ilD)NAl:hne:cht:ria i % m ((3)) : _.
. e training centre of the National Defence A T S )
Academy is located at e el R & 7
(A) Chennai (B) Bombay @) 3=¢ (B) =i
(C) Dehradun (D) Khadakvasla (©) 'agm,:\q @
48. Recently in the news, “Authorised Economic | 48. s=i@td “319PneT ———
Operators Programme” is related to Sidd m@aﬁ?ﬁm ?ﬁ"ﬁmﬁ“ '
(A) Supply Chain and Global Trade : (A) m . a:htm% ? =
(B) Cryptocurrency ®) ‘&Q‘I’ﬂ;‘fﬂ’fii T 3R e samaR
(C) Base Erosion an.d Profit Shifting (C) 3T &RT a8t ey e y
| (D) Money Laundering - (D) W R by e
0 ‘(’gﬁ:ﬁﬁggﬁﬂﬂ iEEB o 49. CICH,CH,SCH,CH,CI %
phosgene .
(C) tear gas (D) freon (A) e B) wisiq

| ©) Rada @) Bty
-8- Y. 08
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50.

51,

o
!&

53.

54.

55.

56.

57.

68.

At what time, botwoeen 8 and 9 U cloek, ia

the angle botwoen the mi
» minute hand m
hour hand 80" ? ai

A

3
(A) 8 hours 8 1 minutes

5 Tl !
(B) 8 hours 29 77 minutes

2
(C) 8 hours 58'1—1 minutes

(D) Both (B) and (C)

Which of the following is a
certification mark for industrial
products in India developed by

the Bureau of Indian Standards ?

(A) Ssl (B) ISS

(C) 181 (D) None of the above

_____is faster memory and volatile in nature.
(A) Both (B) and (C)

(B) Read Only Memory (ROM)

(C) Random Access Memory (RAM)

(D) Neither (B) nor (C)

Who is considered to be the most prominent
figure of Indian Renaissance ?

(A) Rajaram Mohan Roy

(B) Swami Dayanand Saraswathi

(C) Mahadev Govinda Ranade

(D) Swami Vivekananda

Which of the following scheme har :
launched by central government to ) ae
enhanced insurance CcoOver and auce
premium for small exporters ?

(A) NASIK (B) NIRVIK

(C) NAVIK (D) None of the above

The method of embryo sac formation
from a single megaspore 18 terme
development,
(A) Monosporic : .
(C) Nonsporic (D) Multisporic
Ifin a certain code, ‘0 GE' is written as
‘FRUIT, then how will POTATO' be written

in that code ?
(A) VEGETABLE (B) ONION
(D) MEAT

(C) BRINJAL :
A rope makes 140 rounds of a cylinder with

base radius 14cm. How many times can it go
linder with base radius 20 CH iy

(B) 98

(D) 120
~5e o e g1t ratio of the width of the
display screen to the hei ht'Dot A

t ratio ) !
%3 %';r(;fr lt.i‘;]:ot.l'l ). Resolution

(B) Bisporic

Downloaded from www.cclchab.ter.com

50,

ull

62.

58,

64.

65.

66.

67,

68.

CMMS - S3

ww wd) i 8 o p 3 i sl e ) w72 areh yi
aftt vz mreh g & st 80" vl gy

3
(A BESIHLAD T fivre

(13) 8 AAGT 291—‘{ fivre

(C) 8 TG 8 ﬁ- fire

) (1) 3h (C) 2l
Prfifera i @ W v 3 shefie genai & fao
vl w2 i Pt ok SHIvH fag 7

(A) vty () anfoara
(©) andugad W) st A il
g a3l sftw aar B3 areh A0 R

(A) (B) 3 () Al

(B) {re 3i=hl A (ROM)

(C) ton T AA (RAM)

@37 B8 (©)

et S o e g et el e s & 7
TR HiEA T

(B) @ gTE weeEd!

(C) TeEra Thféa T

D) T ez
ﬁaﬁfﬁgﬂmaﬁﬁ%am-m,ﬁﬁnhaﬁaa
%qdﬁaﬂmwaﬂtmmﬁﬂnmmﬁ%
for $z @R EUE R TR 7

(A) NASIK  (B) NIRVIK

(C) NAVIK (D) IFa d A HE &l

Freai | s 3 o 6 iy
gﬁ_—ﬁaﬁmmmil

(A) HFTEITEH (B) *=f=
(C) AT (D) wedtenfE

IR wh ge'Hl, 'ORANGE' =} ‘FRUIT fevan St
g @ m@{’i POTATO’ =\ && feran smom 7

(A) VEGETABLE (B) ONION-

(C) BRINJAL (D) MEAT
o Tt 14 At anum B A AT H 140 TFH

=Tt 1 s R 20 S aTe se 1 9 Rt

FTC TR A Wbl 8 7

(A) 200 9

(©) 17 D) 120
&@_Wﬁﬂiméﬁﬁﬁmm

(A) Tee 3T (B) =z fim

(C) T e AD) fereqEe

X10
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69.

60.

61.

62.

64.

65.

67.

(A) SP (B) Additional DG
- (C) DGP (D) Commissioner
Most Gra i i
?£§%my Aﬁg-{l i ;&wards winner in @3
eyonce (B) Eric Rot
(C) Mank % Mrinari g

68.

The term Subaltern was coined by ?tallan
Philosopher Antonio Grameci related with the
concept of

(A) hegemony (B) power

(C) hermeneutic (D) none of the above

Th August will be celebrated as day.

(A) National Sports day

(B) Football day

(C) Javelin Throw day

(D) Hockey day

Example of brood parasitism

(A) Parrot and Peacock (B) Pigeon and Crow
(C) Fox and Tiger (D) Koel and Crow
What number come in the place of question mark ?
625, 625, 600, ?, 475, 875

(&) 645 (B) 545

(C) 700 (D) 875

measures the inflation levels
at the level of the consumer expenditure.

(A) CPI-IW (B) WPI
(C) CP1 (D) WPL.IW

A cylindrical conductor of length [ and uniform
areaofcrosssection A hasresistance R. Another )
conductor of length 2! and resistance R of the
same material has area of cross section

(A) 2A B) A2

(C) 3A/2 (D) 3A
Amode of reward or punishmentt’
socially expected forms of behay ur

(A) Conformity (B) Social order
(C) Social control (D) Sanctions

ceinforce

Anofficeroftherankof _______ superviges
the work of Government Railway Police.

ol

Six persons are sitting in a row, P ig
left of ? but he is to the right of Y. Rlisatt;% :11:2

right of X, but he is to the left of Q, which ;
left of Z. Who are sitting in the middis cD 18
& % g 1:)1 X E’, middle ?

gi) RQ (D) XR
is divided into two parts such t i

the first part added to times ?ha: :;:lclge;
part make 146. The first part is o
(A) 18 (B) 11

D) 17
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72.

78.

74.

75.

76.

7.

i8 used to specify the addresses
of qll the recipients who will also receive
copies of the same mail,

(A) dee. (B) ace

(C) ce (D) none of these

One who called the Preamble of the Indian
Constitution as a ‘Political Horoscope’

(A) Jawaharlal Nehru

(B) Dr.B.R.Ambedkar

(C) K.M. Munshi

(D) Dr. Babu Rajendra Prasad

Nilesh goes to school from his village and

returns at the speed of 4 km/hr and 2 km/hr
respectively. If he takes 6 hours in all, then

what is the distance between the village and
the school ?

(A) Cannot be determined
(B) 6 km

(C) 6 km

(D) None of these

Quad is the association of

(A) India, UK, Sri Lanka, Israel and
Australia

(B) India, Japan, USA and Australia

(C) India, Japan, Israel and Australia

(D) India, Sri Lanka, Israel and Australia

Rajesh walked 25m towards South. Then b
turned to his left and walked 20m. He then turr
to his left and walked 26m. He again turp

his right and walked 15m. At what distar .18
from the starting point and in which dive, .n ?
(A) 40m East (B) 60m East

(C) 35m East (D) 35m North

What is the proposed punishment for Cyber
Terrorism in IT Act ?

(A) 10 year imprisonment
(B) 1 Crore rupees penalty
(C) 6 year imprisonment
(D) Life imprisonment

What is the theme of World Patient Safety
9 - -

?:)y 2021 ¢ safety : A global health priority

(B) Safe health workers, safe patient

(C) Safe maternal and newborn care

(D) None of the above

CPU uses data in

(4) Nominal
(C) Discrete

form.
(B) Continuous
(D) None of the above

\.1...!
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82.

The leading producer of Coffee in t}w world 18
(A) Columbia (B) Brazil

(C) India (D) Cuba :
Which of the following Section deals with
Direction of Warrant for execution ?

(A) Section 418 of Criminal Procedure Code

(B) Section 416 of Criminal Procedure Code

(C) Section 417 of Criminal Procedure Code

(D) Section 419 of Criminal Procedure Code

Hot, dry and oppressing winds blowing in the
Northern plains from Punjab to Bihar w1t_h
higher intensity between Delhi and Patna 18
called

(A) Lyme (B) Loo o
(©) Kuloo (D) Lyne 33

We are three friends. All of us have different
ages. Three years from now two of us will be
same age as two of us are aged, at present.

What is the age gap between the eldest and
the youngest amongst us ?

(A) 9 years (B) 8 years

(C) 6 years (D) 12 years

The three numbers in AP whose sum is 6
and product is — 24 are

(A) 133'5 (B) —2) 2l6

©) -113 D) 1,4,7

Each VO device in a computer system i

met with the controller, called the _
which controls the operation of the

(A) Random Access Memory

(B) Direct Memory Access Controller

(C) Discrete Memory Access Controller

(D) Cache Memory

Who was the first person used the word

‘Non-Alignment ?

(A) Tito

v

.vice.

- (B) Nehru
~ (C) Boris Yeltsin

(D) VK. Krishna Menon

For the police officer j
- cer
to arrest without warrant nndz_a empowered

i i 18 compet,
to investigate matters, wit Petent
from the courts. hout any orderg

(A) Non-bailable
(B) Cognizable offenceg
. ég; Non f??mbie offences
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(©)

Consider the follow;
owing statements about
SARFAESI ACT, 2002.

I. The SARFAESI  Act essentially
fimp?wer_'a banks and other financial
Institutions to  directly auction

residential or commercial properties

that have been pledged with them to

recover loans from borrowers.

SARFAESI Act applicable only for

scheduled commercial banks.

Choose the right option given below.

(A) Both the statements I and II are
correct

(B) The statement II is correct

(C) The statement I is correct

(D) None of the above

I1.

14:9::26:°?
(A) 15 B) 12
(C) 13 D) 31

In an examination there are three multiple
choice questions and each question has 4
choices. Number of ways in which a student
can fail to get all answers correct is

A) 27 ®) 11
(C) 12 (D) 63

Which of the following correctl;t d ri:bes the
magnetic field near a long stz:alg'ht wire ?
(A) The field consists of radial lines
 originating from the wire .
(B) The field consists of stx:alght lines
perpendicular to the wire _
The field consists of straight lines
allel to the wire
) %tll;s field consists of concen
centred of the wiré
The part of Indian Constitution according

i tal number of members to be
ul') ::eh;cfé Iﬁj:a Sabha from each State has
ele

n fixed ?
..?Z‘; 4™ Schedule

tric circles

(B) 9" Schedule

gt Schedule

(C) 701 Schedl.lle

®)

-18-

word i, 2002 % ar # FraRiraa HET

T fem st '

1. werh sfifam w3t ol = fardia
et ot st & o g R AT 1
aﬁﬁagﬁﬂiﬁ%mm‘ﬁ@ww‘&
) D et =@ = iR 2T 81

11, werd ST e sgfm e &5
& forg w21

# @ ae faereq =1 w77 H
(A) 13 11 21 YA wet 8
(B) %o 11 &t 8
() wIEEHR

(D) I # & Y Tdf

14:9::26:?

(A) 15

©) 13

86.

87.
(B) 12

(D) 31

gl # i Agfmeda T € § 3 wede

T 4 frer 8 €1 v o ol 3l B ad wE
¥ s 8 & Al HI §ET R
(A) 27 (B) 11
©) 12 ) 63

freafefas § @ -1 & &« @9 a/ & e
et & 1 9o Far @ ?

(A) &7 ar & freher @ gaTenr tEnsd & w R
(B) &1 aR W wiwad e Tanaii @ = 8
(C) &= ar & goiat divft tanaff A a R
(D) #Fan & dg f e gmidwn d

WA Gfam &1 98 v s JIER R s A
T BT & foTQ A oI Tt et oh el W1 7
Hrmd

(A) 4eft s

(B) odl srgeh

(C) &dll argesh

(D) 7ol g
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91. Below is given idiom followed by four
alternative meanings, marked (A), (B), (C)
and (D). Mark the one which you think is the
most appropriate,

English Language

To plough the sands.

(A) to busy oneself in an unprofitable
proposition

(B) to be resourceful

(C) to be extremely accomplished

(D) to be dejected

92. Find the misspelt word in the following.
(A) Repeatation
(B) Recitation
(C) Recapitulation
(D) Renunciation

93. Fill in the blank with appropriate word from
the alternatives given below them.
We flew the clouds.
(A) of
(B) above
(C) at
(D) from

94. Give one word substitute for the. _.owing
from the alternatives given below them.

To make or become young again.
(A) Relative

(B) Regress

(C) Relegate

(D) Rejuvenate

96. Add suitable question tag to the following
from the alternatives given below them,

They were poor, 9
(A) weren't they

(B) were they

(C) are they

(D) won't they

06, 14 R W R W gy Wi
& i)
(A) 1948
B) 1946 SR
SS-1910
(D) 1952
97, ‘TTET WEA’ Rt 1 3 R
e w3
(B) gt &
(C) TR &1

Wﬁ'ﬁi#ﬁ

98. fefifes Wi # *F-w W= IwwEwn =
IR R ?
(& STt
B) s ar=s1
IR =
(D) 3 A =i 7

99. I WaT=H _____dy=d
A) =
(B) 3
TRY
(D) 3 @ = Tl
100, ‘@ wfemyR_____ ¥
(A) TR

Q- . (B) @u

i @_m
(D) ¥ | = ff
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